156,

| H

H

<

S R
£8 |98 N
SRS ™~
=S ST
LS N S5 3
T N =8 £SS
\m/ SR 358
|2 |s2d T8
- S|E|583S S
07 Ol ®™|eoc M ' S 27
o Q Qo :M.nmw S m‘m
S| Q|fct S§S
i lm . () “ m 2 m m 2
o= ~ O | s 2 8= g
R o O 2 | & S ST
' o Q-
> 23 S |05 8
> 8 o W S 3
. —_— Q ~
= m “- | 9 ) S =
N g2 |3 > s| ¢
C i rnm L] (] T < 2
v 5 < c | N
5% m o) m W ﬁa o | . © o Y 2
TEeg || =588 5 |5 3
- ] S 8 3 B
= =4 W < -~z X m S S <
W Z o w | B S|lg| § S v
o o L 0 .V. qra “n “ @
=52 (5| |58
ST O 2 S |3
2 O mﬁ Q um 2 ®© o)
= < Q Y| S5 T x 5
= m iy S| 2|8 | &
= = R|lP 3| 2% s O
N O S TN (S8 <3
= o NIRRT R
% Ll e s | NS | o
m Qy = =
£l € s Y
o)) Qn
g g
2 o
S g | g
2|2 T | £ >
E|l o | S |S|m| € $ X
S ‘N * S| N > mw
35 < S |9 |x = < RS
S S| S |E|lS S = 2
& () 5 (3|2 2 < I
“ NS ° g 3.
= S 2 i
o <
g% o <
° g @ O
=g 5%
2 3818 NEEsE g
3 |3 £38%38 £
R m B, m ° .m. m = - ]
' iy a g X W.m (-% W ﬁ W
<E S| zETC
1 £3
™ N
<=
A . . . . - :
@} o
002 55\ &
6.°96H0Y 0118 "Pom UIST Le'66 | OL'L 58
;E,:H.‘ése__..@;g:mas 17°001/Ge 001 €266 8LL | |~ %ot GeF | LA
7 v9'66=0% 029 NI D135 e UFS . izes | 6zl se€v N”Vm/ .
hO0T2 BIUPNIS 05°001/0%°00} 9¢°86 | v2'C o000 ¢d
AI.._
ONIUZ&MED] JSNAM [98°001/08°001] 06°66 | 9670 m_ 4 95 LICN\
‘66=04 062 'POM US| 9s's mw/s
. ___188'66| 201 2 .
BIUPTIS  06°001/26°001 67°66 | L) oo ¢/cd
_ﬂu\sov_ENv\smi 1sndm pg'ool  pso0lL 6’66 P60 . % 0°0CECe N\N>>
r— ] v8'66 90" €CE | rmop
= 00012 BIUPTIS 06°00}/26°00}| 6766 | 171 o0 ¢/cd
f: 1Isndm vB.Ne p9z0L n.Swm_S%_o ol 68°1 hﬁm%ﬁm%e 7 m\m&/
BIUPTIS $8°201 18°201 06001 76'1 o0 £/
—=AMOIUPZEI-OMONIUZEMEI ISAM [Z9°Z01[09°Z0F[ 2 L0L] 960 5 2 %8| E/CM
60°1.0,=04 019 "POMm ‘US| AN
82'8 @
2 <
S
G610l 62°L e
BIUPNIS $8°201(18°201|06°001 v6°1 oo £/¢d
Amolupzal-omoyiuzemesy 1sndm TEE N T Nﬂm%_mmwm,_ 7 @\N>>
00012 BIUPNIS |6 %01|S.V0L¥SC0L| ZEC o0 ¥/¢d
AMOIUPZS-OMOSUZSMET JSNAM 62 701/Z9F0}6L°€01 9670 S 4128 GIZN\
i< P=1
12' yz
0
£9'c0l| 82°L e
00012 BIUPNIS |6 50}(SZV0L¥SC0L| 26 oo ¥/¢d
AMOIUPZS-OMOSUZSMED JSNAM 27 701/8E 01/1G€0}] 9670 - 4 ere] C/LM
2\ 2
€L'8 3,
2 <
O &
EV'E0l Sl g
00012 BIUPNIS G F01/97 70 Z0°€0L 16°) ooo 9L/1d
AMOIUpZol-OMONUZSMED] JSNAM [1E €012 €0}[8E°20} 96°0 #1ee | LILMW
G810L=0Y 0}1@ "POM "U}S| 3\ €
126 3,
2 <
-
62201 L2l g
- | 00GT@ BIUPNIS 05'€0}/62°€04|06°00} 02°€ ooo L/1d
H AMOIUPZS[-OMOYIUZSMED| 1SNTM Poeol 5980 FUeol 860 o 1 oo7) |, G0 | 1ZAZ\NA
00012 BIUPMIS G %0L/€6°€0L[11°¢0L 0'C oo ¢/1d
AMOIUPZal-omoNIUZMEI 1SNdM [86°€01/G8°E01|20°€01 960 L S/LM\
=) =)
V8L O
o3
G620l 0Z°L e
00012 BIUPNIS G 401/€6°C0L|1 L 20} ¥0C oo ¢/1d
AMOIUPZS-OMOSUZSMED JSNAM 2670125 70}19°€0}] 9670 L G/LM\
= 3
8L y
OF
¥S‘€0L| 6L°L g
00012 BIUPTIS 77010970} 7720} 6¢°C oo ¥/1d
AMOIUPZSI-OMOXIUZOMEIY JSNAM S0l ESvol 9€0heo P60 o BY°L hﬁm\mw/.%mmj | W\ W&/
00012 BIUPMIS £7%01/09°701|77'20}| 62°C 000 v/
AMOIUPZSF-OMOSIUZSMEIY JSNAM [¥0r — gsw0r — povol 150 1777 N%%NE,N | S/ M
00012 EIUPTIS  §1°G0}00°S0LSE'€0} 08} oo G/1Ld
AMOIUPZS-OMOSUZSMED JSNAM 2670126 7011070} 9670 s 25z LILM
[=] I=]
162 S\ Y
O
98°‘c0l| /2L g
00018 BIUPTIS £1°G0}/00°S0}/SC'c0L 08°L oo G/1d
AMOIUPZS[-OMONIUZAMEDY JSNAM Besol  Besor  Ervol  Be0 . %% 0'02E8C OL/LM\
‘BJaus |jagey "ulsl ﬁ €90 oz €8¢ Z/xoﬁ/ 7 \
BIUPNIS  /6'G01/9€°G01(25'€0} S0'C ooo 9/1d
AMOIUPZS-OMOSUZSMETY JSNAM [88°G01/82°G01Zh 70| 9670 4wz ] 6/LM
4 Q]
&\ g
ve'L O
33
"Bisus [ogey "uisi 12'¥0L| 0€‘L g2
BIUPNIS /G°G01 98°G01 25°€0L G0°C oo 9/1d
KMOIUPZ3I-oMONIUZSMEI 1SNAM [G7°G010Z G062 701 960 e g00z] CL/LMA
o
o
o
(eo} -—
N O
)
N
-— U. -
S
(o]
[CV0T=04 0112 POM UST | _ lz9'v0l 80°L Q-
AMOIUDZS[-OMOYIUZAMEDY JSNAM IS0t pZsor  psvoh  |rb : % 0'CBLZ LL/LMA
650 yra WN N 2'6xG
0001 BIUPTIS  98'G0}/82'S0}69°C0) Z1'C ooo //1d
AMOIUPZS[-OMONIUZSMEI JSNAM PZS0i PRS0l ¥, o860 o] go'| | -%00cpst | m}\\%>
00012 BlUPNIS $6°G0108°G01|92 #0}| 89°) 000
Amolupzal-omosjiuzamely JIsndm ?_me kL'soL :.g?s 960 ol 2271 Zxoo.omt,, 7 WW\ w&/
00018 BIUPTIS  /§'G0}12Z'S0L LV v0L| 97l 00°0 /
AMOIUDZS[-OMO¥IUZOMEY JSNAM pLS0L 501 FLv0L P60 96°1 %mom,— m—\\—\>>
00019 BIUPTIS (98'G0}I82°S0LLZ V0L SL'L % ooo | 7L/1d
©
©
. (@]
= %)
o
C o
E o
O | o -
®» | 5| O S
-— o —_—
> | X — (4]
_m_v o 9 S c
9 S
2 2 &£ 5 X —
cC —_
. c | c T | g & 2
S 2 02 g o =8 B
3 & 8 S 318 =
| ®© © | =0 |-
S clc 8§ 58 %
O o | o | v | & g|c >
N | @ o o D =5 5
O N/ N N @© | B 9o | =
o ¥ ¥ | N O |\» )]




